m/s

13

40 Sv/h|
50 piSv/h||
00 piSv/h||
17 piSv/h||
20 piSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
00 piSv/h||
10 piSv/h||
20 piSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
10 00 pSv/h||
10 10 iSv/h||
10 20 piSv/h||
10 30 piSv/h||
10 40 pSv/h||
10 50 pSv/h||
11 00 piSv/h||
11 10 pSv/h||
11 20 pSv/h||
11 30 pSv/h||
11 40 pSv/h||
11 50 Sv/h||
00 pSv/h||
10 piSv/h||
20 piSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
00 piSv/h||
10 piSv/h||
20 piSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
00 iSv/h||
10 iSv/h||
20 iSv/h||
30 iSv/h||
40 iSv/h||
50 iSv/h||
00 iSv/h||
10 iSv/h||
20 iSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
00 piSv/h||
10 piSv/h||
20 piSv/h||
30 piSv/h||
40 piSv/h||
50 piSv/h||
00 piSv/h||
10 piSv/h||
20 pSv/h||




30 pSv/h|

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h|l

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

10 00 pSv/h||
10 10 pSv/h||
10 20 pSv/h||
10 30 pSv/h||
10 40 pSv/h||
10 50 pSv/h||
11 00 pSv/h||
11 10 pSv/h||
11 20 pSv/h||
11 30 pSv/h||
11 40 pSv/h||
11 50 pSv/h||
14 00 pSv/h||
10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||




00 pSv/h|
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h|l
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
10 00 pSv/h||
10 10 pSv/h||
10 20 pSv/h||
10 30 pSv/h||
10 40 pSv/h||
10 50 pSv/h||
11 00 pSv/h||
11 10 pSv/h||
11 20 pSv/h||
11 30 pSv/h||
11 40 pSv/h||
11 50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||




30 pSv/h|

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h|l

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

00 pSv/h||

10 pSv/h||

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||

10 00 pSv/h||
10 10 pSv/h||
10 20 pSv/h||
10 30 pSv/h||
10 40 pSv/h||
10 50 pSv/h||
11 00 pSv/h||
11 10 pSv/h||
11 20 pSv/h||
11 30 pSv/h||
11 40 pSv/h||
11 50 pSv/h||
15 00 pSv/h||
10 pSv/h|l

20 pSv/h||

30 pSv/h||

40 pSv/h||

50 pSv/h||




00 pSv/h|
10 pSv/h||
20 pSv/h||
30 pSv/h|l
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
10 pSv/h||
20 pSv/h||
30 pSv/h||
40 pSv/h||
50 pSv/h||
00 pSv/h||
11 10 pSv/h||
11 20 pSv/h||
11 30 pSv/h||
11 40 pSv/h||
11 50 pSv/h||
00 piSv/h|




